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“ g (F2) |k (FE) (57) s (FFF) g ()
33 9, 754 293 1,331 38.8
30 9, 844 331 1,323 39.7
27 10, 065 368 1, 386 40. 4
26 10, 508 402 1,418 45.2
25 10, 698 422 1,431 40. 6
20 7,967 390 1,140 39.1
17 6, 539 383 980 41.1
16 7, 243 452 898 38.8
16 7,495 480 999 39.5
14 7,165 521 1,042 40.5
13 6, 794 521 985 -
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81 & 41 40 41 46 47 48 51 53 51 49 50 46 46. 9
82 & 45 45 48 50 53 60 59 59 49 46 47 46 50.6
83 & 47 46 49 59 59 57 54 51 50 53 51 50 51.5
84 & 53 53 57 57 59 62 66 66 64 57 57 61 59.3
85 & 63 64 61 61 65 67 66 62 54 51 42 42 58.2
86 = 50 47 39 22 45 48 41 34 27 23 30 31 36. 4
87 & 31 30 35 37 37 39 46 62 69 61 53 54 46. 2
88 = 68 67 60 59 64 69 71 71 58 53 53 52 62.1
89 = 50 44 41 44 51 50 51 51 50 46 42 41 46. 8
90 = 40 40 38 40 38 40 42 44 41 38 37 37 39.6
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ERN 1 (2) (12 (D+(2) | 3+ 2y | g | a3 | Hu
87 47 49 -2 0.96 100 21 58 8 13
88 62 44 +18 1.41 100 22 60 5 13
89 47 40 +7 1.18 100 21 63 4 12
90 40 42 -2 0.95 100 21 64 4 11
91 44 40 +4 1.10 100 19 65 4 12
I in 48 43 15 1.12 100 21 62 5 12




